5.70% CH3OH 8.60% 02, 85. 70% Ar, @ = 1 00, p,, = 2 13 atm

100

Ignition delay time (T) / us

10

[ Aramco Mech 1.3 -

[ Aramco Mech 2.0 ——

6.00 6.50

7.00
10°K/ T

7.50

8.00

2.00% CH3OH 6.10% 02, 91.90% Ar D= O 50, p,, = 11.63 atm

1000 f

100

Ignition delay time (T) / us

Aramco Mech 1. 3
Aramco Mech 2.0 ——

7.00

7.50

8.00
10K/ T

8.50

9.00




3. 10% CH3OH 4. 60% 02, 92 30% Ar P=1 OO Pay = 2 23 atm

1000

100

Ignition delay time (T) / us

5.70% CH3OH 8. 60% 02, 85 70% Ar, CI> =1 OO Pay = 10. 12 atm

1000 F

100

Ignition delay time (T) / us

Aramco Mech 1.3 -

Aramco Mech 2.0 ——

5.50

6.00

6.50

7.00
10°K/T

7.50

8.00

8.50

10°K/T

Aramco Mech 1.3 = I i

Aramco Mech 2.0 —— 1
[ |

7.80 800 820 840 860 880 9.00 920 940



3.10% CH3OH 4. 60% 02, 92 30% Ar P = 1 .00, paV =10.51 atm

Aramco Mech 1. 3 .
Aramco Mech 2.0 —— . u

1000 f

100

Ignition delay time (T) / us

6.50 7.00 7.50 8.00 8.50 9.00 9.50
10°K/T

7.70% CH3OH 5. 80% 02, 86 50% Ar D=2 OO Py =2.18 atm

Aramco Mech 1.3 -
Aramco Mech 2.0 ——

ek
-
]
)
T

100

Ignition delay time (T) / us

6.00 6.50 7.00 7.50 8.00 8.50 9.00
10K/ T



